TRASA 1 0ZNACZENIA:

— —  — - — = proj. row prawostronny

Pik. = 643,49 Rze = 108,23 — — — — — = proj. row lewostronny

O = 1485 Rze = 10597
WP = 830 P = 2080
R = 8000

Pik. = 55,48: Rae = 106,44
PLP = 41,02 KLP = 69,94

R = 1500,00

max. Pk=08,7; Rze=106,37
[=1446: B =00/

Pk. = 91,79 Rze = 106,16
PLP = 78,95; KLP = 105,03
R = 2200,00

min: Pik=9,51: Rze=106,20
T=1324B=004

Pk. = 142,62 Rze = 106,38
PLP = 123,46; KLP = 1617
R = 3000,00

max. Pk=136,45; Rze=106,35
[=1916; 8=10,06

Pik. = 226,12 Rze = 105,07
PLP = 197,70; KLP = 255,74
R = 2400,00

min: Pik=21796; Rze=10583

Pik. = 29151 Rze = 106,69
PLP = 271,94 KLP = 31148
R = 1800,00

max: Pik=299.88:  Rze=106,60
T=19978=01

Pk. = 423,31 Ree = 100,64
PLP = J6780; KLP = 478,87
R = 6000,00

min: Pik=406,94: Rze=106,0/
[=503 B=020

Pik. = 35193; Rze = 107,39

PLP = 526.42; KLP = 57544
R =1800,00

max. Pk=33012; Rze=107 24
T=239:B=01

Pik. = 608,10; Rze = 106,60
PLP = 585,83; KLP = 60,99
R = 2600,00

min: Pk=622,41: Rze=106,06
1=2228=010

Pk. = 729,25, Rze = 106,97
PLP = J01,34; KLP = 10716
R = 7000,00
T=279,8=1006

PLP = 822,92 KLP = 864,06
R = 180000

max. Pk=84277: Rze=108,11
1=2008=012

Pk. = 100498; Rze = 106,52
PLP = 943,62, KLP = 1066,34

min: Pik=1027,59; Rze=106,93

Pik. = 115704 Rze = 10715

PLP = 112967: KLP = 118441
R =6000,00

max. Pik=1162,42 Rze=107.09
1=21318=006

T=0613; 6=02

min: Pik=11,05; Rze=109,99 T=2028=018
1=59%;8=00 , 2 S408,035
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